1. Vypočítej:
	120 + 60 =
	800 – 70 =
	54 + 65 =

	345 + 40 =
	900 – 30 =
	123 + 45 =

	125 + 70 =
	1000 – 60 =
	98 + 20 =

	876 +21 =
	500 – 90 =
	453 + 23 =

	654 + 43 =
	200 – 80 =
	65 + 34 =

	81 + 212 =
	1000 – 90 =
	76 + 25 =

	901 + 6 =
	400 – 50 =
	76 + 45 =

	561 + 40 =
	700 – 30 =
	97 + 23 =



2. o 20 více:
	23
	145
	980
	543
	67
	198
	432
	90
	65
	167

	
	
	
	
	
	
	
	
	
	



3. o 50 méně:
	450
	176
	1000
	987
	876
	362
	178
	467
	969
	798

	
	
	
	
	
	
	
	
	
	



4. 6 krát více:
	6
	9
	5
	3
	10
	2
	7
	8
	4
	1

	
	
	
	
	
	
	
	
	
	



5. 5 krát méně:
	25
	40
	10
	20
	30
	45
	35
	50
	15
	5

	
	
	
	
	
	
	
	
	
	



6. 
56 + 20 + 20 – 90 = ____________
200 + 300 + 400 – 56 =_____________


7. Vynásob, vyděl
	45 : 9 =
	8 . 5 =
	36 : 6 =
	1 . 9 =

	90 : 9 =
	4 . 7 =
	36 : 4 =
	8 . 2 =

	56 : 7 =
	9 . 5 =
	32 : 8 =
	3 . 7 =

	35 : 7 =
	0 . 7 =
	72 : 9 =
	8 . 4 =

	81 : 9 =
	8 . 7 =
	80 : 8 =
	9 . 8 =

	18 : 3 =
	6 . 6 =
	56 : 8 =
	5 . 6 =

	16 : 8 =
	6 . 8 =
	45 : 5 =
	7 . 4 =

	63 : 9 =
	8 . 9 =
	64 : 8 =
	5 . 3 =



8. Vypočítej:
237		765		901		543		217		608
147		207		  69		348		648		276
________________________________________________________________

9. Odčítej:

 763		 476		 982		 483		 567	      912 
-127            -158             -555             -239             -318        -456
________________________________________________________________

10. Narýsuj úsečku:  AB = 12 cm
                                   CD = 6,5cm
                                   KL = 7,8 cm
                                   MN = 9 cm

Rýsuj na čistý papír, ať máš dostatek místa

11. Převeď
 
	2cm =           mm
	50mm=           cm

	5 cm =          mm
	80mm=           cm

	8cm =           mm
	30mm=           cm

	5,5 cm=           mm
	45mm=           cm              mm

	8,1 cm =          mm
	72mm=           cm              mm




